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QUESTION 1

Immediately after deleting 3 lines of text in vi and moving the cursor to a different line, which single character command
will insert the deleted content below the current line?

A. i (lowercase)

B. P (uppercase)
C. p (lowercase)
D. U (uppercase)
E. u (lowercase)

Correct Answer: C

QUESTION 2

What do the permissions -rwSr-xr-x mean for a binary file when it is executed as a command?
A. The command is SetUID and it will be executed with the effective rights of the owner.

B. The command will be executed with the effective rights of the group instead of the owner.
C. The execute flag is not set for the owner. Therefore the SetUID flag is ignored.

D. The command will be executed with the effective rights of the owner and group.

Correct Answer: C

QUESTION 3

What is the default action of the split command on an input file?

A. It will break the file into new files of 1,024 byte pieces each.

B. It will break the file into new files of 1,000 line pieces each.

C. It will break the file into new files of 1,024 kilobyte pieces each.

D. It will break the file into new files that are no more than 5% of the size of the original file.

Correct Answer: B

QUESTION 4

What is the default nice level when a process is started using the nice command?
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A.-10
B. 10
C.20
D.0

Correct Answer: B

QUESTION 5

Which of the following commands will NOT update the modify timestamp on the file /tmp/myfile.txt?
A. file tmp/myfile.txt

B. echo "Hello" >/tmp/myfile.txt

C. sed -ie "s/1/2/" [tmp/myfile.txt

D. echo -n "Hello" >>/tmp/myfile.txt

E. touch /tmp/myfile.txt

Correct Answer: A
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